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Solid Materisl
Opening STEEL 350 PEF
STEEL WR350 P4F
STEEL 300F4F
STEEL 260 P&F
- STEEL 200 P
-0 2STEEL HA400
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STEEL HUZG0
STEEL HA200
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STEEL XF400
STEEL XF300
CONCR
CONCR_20
CONCR_25

Mo changes

STEEL

select
properties



tony_hitomi
Text Box
select properties


General | Principal System | Central System | Atbitiary System|

[ Geometrical vahies [ Weighted valuss
I ties
A = 4000 mm2 = 4000 2
Center of graviy
=& mm &1 mm
=22 mm 22 mm
Dimensions
masH =130 mm
masl =60 mm
Perin. = 460 mm

Base material

E  =200000.00 MPa STEEL A

den 851 81 ko/m3
Wl = 3141 kG/m

Addtional calculations
Torsional constant (1x]
Shear area [y, A7)
Shear rigidity factors Py, Wz)
] Plastic section moduli (wply, \Wplz)
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T Results =
General | Principal System | Cential System | Arbirary System
Geometical values Weighted values
E Moments of insttia
e =543651 mmd
Iy 338570 mmd Iy =6338570 mmd
Iz =859537 mmd Iz =863537 mmd
Other
Alpha =3.2Deg
[ 0 mm
i =15mm
Ay =3520mm2
Az =2319mm2 Azt =233 mm2
Modui
Wely = 86521 mm3 Wely* = 36521 mm3
:i__x o Welz = 25482 3 el
Wy =1343mm2 Wy =1343 mm2
wa 750 M2 Wzt =1750 mm2
Wel =Wl (] Wl =wpl ()
whlz =Wpkz(] Wple* =Wple* (]
Masimum distances
Yy Yy =3mm
vpp oy
Yz Ve
Ypz Wpz
Calculation Note Help Close






